oK BOKGET (RN R )
24 7K A A KBS e fiE 4 17H 5H21H 6190 TH1TH 821 H 9H18H| 10/H16H| 11H20H 12H11H

— W “H 1000,/ m 1 BT 0 0 0 0 0 0 0 0 0
PN 5 e et s s s s et s et s
A A+ 200m g/ 1 BT 7.0 9.0 7.4 7.9 7.9 9.0 6.5 6.9 7.5

HHY (A% (TOC) O#) 3me/ 1 ULF 0.3 0.4 0.4 0.3 0.5 0.5 0.3 0.3 0.4
p H it 5.8~8.6 7.3 7.1 7.4 7.3 7.4 7.5 7.1 7.2 7.0
S AgTenoe| EEARL RELL BEARL OBEAL REARL] BEAL] BEALL REARL|] &EEARL

= K AgTenoe| EEARL REALL BEARL OBEAL REARL] BEAL] BEALL REARL|] &EEARL
@ B 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) B 28 LT 0. 1 0.2 0.1 0. 1 0. 1 <€0. 1 0.1 <€0. 1 <€0. 1
7% B # # 0.4 0.3 0.3 0.4 0.5 0.5 0.5 0.4 0.4

oKk BOKGAT (RO K R 2 T
2 7K A A KB e fiE 4 17H 5H21H 6190 TH1TH 821 H 9H18H| 10/16H| 11H20H 12H11H

— W A 1000,/ m 1 BT 0 0 0 0 0 0 0 0 0
PN 5 e s s s s s et s s g
WAk A A+ 200meg ./ 1B 7.2 9.4 7.1 7.5 7.3 9.2 6.3 6.7 7.0

AHY (2ARRE (TOC) O#) 3me/ 1 ULF 0.4 0.5 0.4 0.3 0.5 0.5 0.3 0.3 0.3
p H it 5.8~8.6 7.4 7.2 7.4 7.4 7.4 7.5 7.1 7.2 7.0
S Agcenoe| EEARL RELL BEARL OBEAL REARL] BEAL] RBEALL REARL|] &EEARL

= K Agcenoe| HEEARL RELL BEARL OBEAL REALL] BEAL] BEALL REARL|] &EEARL
@ B 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) iy 28 LT 0. 1 0. 1 0.1 <€0. 1 0. 1 0.1 0.1 <€0. 1 <€0. 1
34 B # # 0.4 0.4 0.5 0.7 0.6 0.6 0.6 0.4 0.4

oK BOKSGET O KR )
2 7K A A KBS fiE 4 17H 5H21H 6190 TH1TH 821 H 9H18H| 10/16H| 11H20H 12H11H

ping

— W A 100,/ m 1 B0 F 0 0 0 0 0 0 0 0 0
PN 5 RIS RNk et s e s e e s s i
kA A+ 200m g/ 1 T 8.4 10.2 9.2 8.7 8.7 8.1 7.2 7.4 7.6

HHY (2ARRE (TOC) O#) 3me/ 1 WL 0.4 0.5 0.5 0.4 0.5 0.5 0.3 0.4 0.4
p H it 5.8~8.6 7.3 7.0 7.3 7.2 7.2 7.3 7.0 7.2 7.0
S Agcenoe| EEARL RELL BEARL RBEAL REALL] BEAL] BEALL REARL|] &EEARL

= K Agcenoe| HEEARL O REALL BEARL ORBEAL REARL] BEAL] RBEALL REARL|] &EEARL
@ B 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) iy 28 LT 0. 1 <€0. 1 0.1 0. 1 0. 1 0.1 0. 1 <€0. 1 <€0. 1
7% B # # 0.3 0.3 0.3 0.5 0.6 0.4 0.4 0.3 0.3

oK BOKGET N SRR N
2 7K A A IR S e fiE 4 17H 5H21H 6190 TH1TH 821 H 9H18H| 10/16H| 11H20H 12H11H

— W A 1000,/ m 1 LT 0 0 0 0 0 0 0 1 0
PN 5 RIS RNk s et s s s et s s it
kA A+ 200m g/ 1 LT 8.4 9.3 9.2 8.9 8.8 8.2 7.3 7.4 7.7

AHY (2ARRE (TOC) O#) 3me/ 1 ULF 0.4 0.5 0.5 0.4 0.5 0.6 0.3 0.4 0.4
p H it 5.8~8.6 7.3 7.0 7.3 7.1 7.2 7.3 7.0 7.2 7.0
S Agcenoe| HEEARL O RELL BEARL OBEAL REALL] BEAL] BEALL REARL|] &EEARL

= S Agcenoe| HEEARL REALL BEARL ORBEAL REALL] BEAL] RBEALL REARL|] &EEARL
@ B 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
%) B 2 LT <0. 1 0. 1 <€0. 1 <€0. 1 <€0. 1 <€0. 1 0. 1 <€0. 1 <€0. 1
7% B # # 0.4 0.3 0.3 0.4 0.5 0.4 0.4 0.3 0.3




ok BOKSGET UMK R )
f28 7K A A KBS e fiE 4]17H 521H 6] 19H THI1TH 8 21H 9H18H| 10/H16H| 11H20H 12H11H 1H22H [T S EES
— [ [ 100,/ m 1 A F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz Bt EnmnT & et et et et et et et et et st et
Hikm 1 A 200m g/ 1 DL F 8.3 9.6 9.2 9.0 9.1 8.1 7.3 7.4 7.9 7.0 9.6 7.0 8.3
1kt (&ATHBSE (TOC) o) 3meg/ 1O 0.4 0.5 0.5 0.4 0.6 0.6 0.3 0.4 0.4 0.4 0.6 0.3 0.5
p H it 5.8~8.6 7.3 7.0 7.4 7.2 7.2 7.4 7.0 7.2 7.0 7.0 7.4 7.0 7.2
S AT e BEEARL| O RELL ORBERL REAL RELRL] BEARL REARL ORELRL|] BEARL] RELL RERL| BERL RERL
= K Ao e BEEARL| O RELL ORBEARL REAL RELRL] BEARL REARL O RELRL|] EEARL] REALL RERL| BRERL RERL
@ E 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 1.4 <1.0 <1.0 <1.0
&) 3 28 LT 0. 1 0. 1 <€0. 1 <0. 1 0. 1 0. 1 0. 1 <€0. 1 0. 1 0.1 0.1 0.1 0.1
7% # #H # 0.3 0.3 0.2 0.4 0.4 0.3 0.4 0.3 0.3 0.3 0.4 0.2 0.3
ok BOKSGET  ONHPEOKSE —  (REMSK) FB)
f28 7K A A KB e fiE 4 23H 5 22H 6] 12H 7H23H 8 13H 94 25H 10490 11H13H  12/17H 1] 28H e owmo Ik 8 [l %k
— [ [ 100,/ m 1 A F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN izd Bt EnmnT & et et et et et et it k3 et et Sk
Hikm A1 A 200meg /1 BT 9.0 11.0 11.0 8.4 9.2 7.8 8.1 7.9 8.1 7.6 11.0 7.6 8.8
1kt (&ATHBEE (TOC) D) 3meg/ 1O 0.4 0.5 0.6 0.4 0.5 0.5 0.4 0.5 0.4 0.3 0.6 0.3 0.5
p H it 5.8~8.6 7.4 7.3 7.2 7.3 7.2 7.4 7.4 7.1 7.0 7.4 7.4 7.0 7.3
S AT e BEEARL| O RELL RBERL OREAL RERL] BEARL REARL O RELRL|] EEARL] RELL RERL| BRERL RERL
= K AuTaoce|  BEEARL| RELL RBERL REAL RELRL] BEARL REARL RELRL|] REEARL] REALL RERL| BRERL RERL
@ B 58 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) B 28 LT 0. 1 0. 1 0.1 <€0. 1 0. 1 0.1 0.1 <€0. 1 <€0. 1 0.1 0.1 0.1 0.1
34 B # # 0.5 0.6 0.4 0.5 0.5 0.5 0.5 0.4 0.5 0.6 0.4 0.5
Bk BRI ORIE - FEIEKIEM —  FREIEER)
f28 7K A A KBS fiE 4 16H 5 22H 6] 12H 7H23H 8 13H 94 25H 10490 11H13H  12/17H 1] 28H Jeowm o Ik 8 [l %k
— i [ 100,/ m 1 B0 F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz Bt s nmnT & et et et et et et et it et et et
Hikm 1 A 200m g/ 1 DL F 11.6 8.5 9.6 7.1 8.7 6.3 5.6 7.6 8.6 10.6 11.6 5.6 8.4
1k (&ATHBEE (TOC) o) 3meg/ 1O 0.2 0.4 0.3 0.2 0.2 0.3 0.2 0.2 0.2 <0.2 0.4 0.2 0.2
p H it 5.8~8.6 6.9 7.2 7.1 7.2 7.0 7.2 7.2 6.8 6.8 7.3 7.3 6.8 7.1
S AuTooce|  BEEARL| O RELL RBERL REAL| RELRL] BEARL REARL O RELRL|] BEARL] RELL RERL| BRERL RERL
= K Ao e BEEARL| O RELL RBERL REAL| RELRL] BEARL REARL ORELRL|] BEARL] REALL RERL| BRERL RERL
@ 3 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) E 28 LT 0. 1 <€0. 1 0.1 0. 1 0. 1 <€0. 1 0. 1 <€0. 1 0. 1 0.1 0.1 0.1 0.1
7% B # # 0.3 0.1 0.2 0.3 0.4 0.4 0.4 0.4 0.4 0.3 0.4 0.1 0.3
ok BOKGET  ODNHPEOKS —  (REMSK) w5 E)
f28 7K A A IR S e fiE 4 16H 5 22H 6] 12H 7H23H 8 13H 9H25H 10490 11H13H  12/17H 1] 28H Jeowmo Ik 8 [l %k
— [ [ 100,/ m 1 B4 F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz Bt EnmnT & k3 et et et et et et et et et et
Hikim 1 A 200m g/ 1 DL F 8.8 10.2 11.5 9.2 9.6 8.2 8.5 7.9 8.4 7.0 11.5 7.0 8.9
1kt (&ATHBEE (TOC) D) 3meg/ 1O 0.3 0.5 0.6 0.5 0.5 0.5 0.5 0.4 0.4 0.4 0.6 0.3 0.5
p H it 5.8~8.6 7.1 7.3 7.3 7.4 7.3 7.4 7.4 7.1 7.0 7.4 7.4 7.0 7.3
S Ao e BEEARL| O RELL RBERL REAL RELRL] BEARL REAL O RELRL|] BEARL] RELL RERL| BRERL RERL
= = Aucooce|  BEEARL| O RELL RBERL OREAL RELRL] BEARL REARL ORELRL|] BEARL] RELL RERL| BRERL RERL
@ B 58 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
%) 3 28 LT <0. 1 0. 1 <€0. 1 <€0. 1 <€0. 1 <€0. 1 0. 1 <€0. 1 <€0. 1 0.1 0.1 0.1 0.1
7% B # # 0.3 0.2 0.1 0.3 0.5 0.7 0.8 0.4 0.5 0.3 0.8 0.1 0.4




ok BOKGET  ChEHEOKYE —  (EFEMSK) ACKIIED)
f28 7K A A KBS e fiE 4 16H 5 22H 6] 12H 7H23H 8 13H 9H25H 10H9H] 11H13H  12/17H 1] 28H Jeowmo | Ik [ 8 [l %k
— [ “H 100,/ m 1 A F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz Bt EnmnT & et et et et et et et et et st et
A A 200meg /1 BT 8.9 10.6 11.3 8.5 9.3 8.0 8.0 8.0 8.4 7.6 11.3 7.6 8.9
HHY (A% (TOC) O#) 3me/ 1 ULF 0.3 0.5 0.6 0.4 0.5 0.5 0.4 0.5 0.4 0.3 0.6 0.3 0.4
p H it 5.8~8.6 7.2 7.2 7.3 7.2 7.2 7.4 7.4 7.1 7.0 7.4 7.4 7.0 7.2
S AT e BEEARL| O RELL ORBERL REAL RELRL] BEARL REARL ORELRL|] BEARL] RELL RERL| BERL RERL
= K Ao e BEEARL| O RELL ORBEARL REAL RELRL] BEARL REARL O RELRL|] EEARL] REALL RERL| BRERL RERL
@ iy 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) B 28 LT 0. 1 0. 1 <€0. 1 <0. 1 0. 1 0. 1 0. 1 <€0. 1 0. 1 <€0. 1 0. 1 <0. 1 0. 1
B 2 H # 0.5 0.4 0.3 0.5 0.4 0.3 0.5 0.3 0.4 0.4 0.5 0.3 0.4
ok BOKSGET Sk — (BEFSK) BAR)
f28 7K A A KB e fiE 4 23H 5 29H 625 H 7H24H 8 27H 9H11H| 104230 11H26H 12/ 18H 129K Jeowmo | Ik 8 EIES
— W A 100,/ m 1 A F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN izd Bt EnmnT & et et et et et et it k3 et et Sk
WA A A 200meg /1 BT 7.7 7.2 7.5 7.1 7.9 8.9 6.3 7.0 7.0 7.8 8.9 6.3 7.4
AHY (2ARRE (TOC) O#) 3me/ 1 ULF 0.4 0.4 0.4 0.4 0.6 0.8 0.3 0.3 0.3 0.2 0.8 0.2 0.4
p H it 5.8~8.6 7.4 7.3 7.4 7.4 7.6 7.3 7.0 7.4 7.2 7.0 7.6 7.0 7.3
S AT e BEEARL| O RELL RBERL OREAL RERL] BEARL REARL O RELRL|] EEARL] RELL RERL| BRERL RERL
= K AuTaoce|  BEEARL| RELL RBERL REAL RELRL] BEARL REARL RELRL|] REEARL] REALL RERL| BRERL RERL
@ E 58 LT <1.0 <1.0 <1.0 2 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) iy 28 LT 0. 1 0. 1 0.1 <€0. 1 0. 1 0.1 0.1 <€0. 1 <€0. 1 <€0. 1 0. 1 <0. 1 0. 1
% 2 H # 0.4 0.3 0.3 0.5 0.5 0.4 0.6 0.5 0.4 0.4 0.6 0.3 0.4
ok BOKSGET (S — (BERSK) HIFE)
f28 7K A A KBS fiE 4 23H 5 29H 625 H 7H24H 8 27H 9H11H| 10423 11H26H 12/ 18H 1H29H e owm o Ik 8 EIES
— W A 100,/ m 1 B0 F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz Bt s nmnT & et et et et et et et it et et et
WA A A 200meg /1 BT 7.7 7.2 7.5 7.2 7.8 8.9 6.3 7.0 7.0 7.8 8.9 6.3 7.4
HHY (2ARRE (TOC) O#) 3me/ 1 WL 0.4 0.4 0.4 0.4 0.5 0.8 0.3 0.3 0.3 0.2 0.8 0.2 0.4
p H it 5.8~8.6 7.4 7.3 7.4 7.3 7.5 7.2 6.9 7.4 7.2 6.9 7.5 6.9 7.3
S AuTooce|  BEEARL| O RELL RBERL REAL| RELRL] BEARL REARL O RELRL|] BEARL] RELL RERL| BRERL RERL
= K Ao e BEEARL| O RELL RBERL REAL| RELRL] BEARL REARL ORELRL|] BEARL] REALL RERL| BRERL RERL
@ iy 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) iy 28 LT 0. 1 0.2 <€0. 1 0. 1 0. 1 <€0. 1 0. 1 <€0. 1 <€0. 1 <€0. 1 0. 1 <0. 1 <€0. 1
% 2 H # 0.4 0.3 0.4 0.5 0.5 0.4 0.6 0.4 0.4 0.4 0.6 0.3 0.4
KBRS T (K T2EHK)
% K A H 45 16H 5H22H 6H12H 7H23H 8H13H 9H25H 10490 117130 12191 1H28H om | & IR Y [EIE"S
RS 14. 1 18.2 20. 7 25.0 27.2 24.7 22.3 18.7 13.1 8.9 27.2 8.9 19.3
RO DIED <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <0. 03 <€0.03 <0. 03 <0. 03 <€0.03 <0. 03 <€0.03 <0. 03
A A 10.0 8.3 9.3 7.8 8.6 6.7 6.1 7.4 8.0 8.7 10.0 6.1 8.1
AN L TR NE (EE) 53 52 55 52 67 49 48 51 52 54 67 48 53
FRRIREE W) 76 103 106 108 122 96 104 95 98 103 122 76 101
p H{E 6.7 6.6 6.6 6.6 6.7 6.9 6.7 6.7 6.8 6.8 6.9 6.6 6.7
B <0. 1 <€0. 1 <€0. 1 0. 1 <0. 1 0. 1 <€0. 1 0. 1 <€0. 1 <€0. 1 <0. 1 0. 1 <0. 1
BTN E 33.0 33.5 33.6 33.5 50. 5 36.0 34.8 38.4 36.7 36.5 50. 5 33.0 36.7
KA 30.9 28.6 30.9 30. 6 35.2 29. 4 24.2 33.2 30.5 34.2 35.2 24.2 30. 8
ERLEE 15. 4 15.3 15.5 14.2 18.0 14. 1 13.7 14.6 14.7 15. 1 18.0 13.7 15. 1




oKk BOKGET  (RAKIE — 17E)
f28 7K A A KBS e fiE 41100 5/8H 6150 7H3H 8 6H 9H5H 10/2H 116H 12/4H 1H8H TR R [l %k
— [ [ 100,/ m 1 A F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz Bt EnmnT & et et et et et et et et et st et
Hikm 1 A 200m g/ 1 DL F 4.9 5.2 5.1 5.2 5.2 5.0 4.5 4.7 4.3 4.5 5.2 4.3 4.9
1kt (&ATHBSE (TOC) o) 3meg/ 1O 0.2 0.2 0.2 0.2 0.4 0.3 0.4 0.2 0.3 0.3 0.4 0.2 0.3
p H it 5.8~8.6 6.8 6.7 6.7 6.6 6.7 6.6 6.5 6.8 6.6 7.0 7.0 6.5 6.7
S AT e BEEARL| O RELL ORBERL REAL RELRL] BEARL REARL ORELRL|] BEARL] RELL RERL| BERL RERL
= K Ao e BEEARL| O RELL ORBEARL REAL RELRL] BEARL REARL O RELRL|] EEARL] REALL RERL| BRERL RERL
@ E 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) 3 28 LT 0. 1 0. 1 <€0. 1 <0. 1 0. 1 0. 1 0. 1 <€0. 1 0. 1 0.1 0.1 0.1 0.1
7% # #H # 0.4 0.4 0.3 0.4 0.3 0.3 0.3 0.4 0.4 0.3 0.4 0.3 0.4
Bk BOKGET GRS FUKIR — )
f28 7K A A KB e fiE 41100 5/8H 6J15H 7H3H 8H6H 9H5H 10/2H 116H 12/4H 1H8H TR R [l %k
— [ [ 100,/ m 1 A F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN izd Bt EnmnT & et et et et et et it k3 et et Sk
Hikm A1 A 200m g/ 1 DL F 3.7 3.7 3.7 3.6 3.7 3.7 3.4 3.4 3.5 3.4 3.7 3.4 3.6
1kt (&ATHBEE (TOC) D) 3meg/ 1O <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 <0.2 0.2 <0.2 0.2 <0.2
p H it 5.8~8.6 6.9 6.8 6.8 6.7 6.9 6.8 6.6 6.8 6.6 7.0 7.0 6.6 6.8
S AT e BEEARL| O RELL RBERL OREAL RERL] BEARL REARL O RELRL|] EEARL] RELL RERL| BRERL RERL
= K AuTaoce|  BEEARL| RELL RBERL REAL RELRL] BEARL REARL RELRL|] REEARL] REALL RERL| BRERL RERL
@ B 58 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) B 28 LT 0. 1 0. 1 0.1 <€0. 1 0. 1 0.1 0.1 <€0. 1 <€0. 1 0.1 0.1 0.1 0.1
7% # #H # 0.3 0.2 0.2 0.3 0.2 0.3 0.5 0.3 0.4 0.4 0.5 0.2 0.3
WKk BOKGET  (BAKE — 2K
f28 7K A A KBS fiE 41100 5/8H 6150 7H3H 8H6H 9H5H 10/2H 116H 12/4H 1H8H TR R [l %k
— e i 100,/ m 1 B0 F 0 0 0 11 0 0 0 0 0 0 11 0 1
PN iz Bt s nmnT & et et et et et et et it et et et
Hikm 1 A 200m g/ 1 DL F 3.6 3.7 3.6 3.6 3.8 3.7 3.5 3.5 3.5 3.4 3.8 3.4 3.6
1k (&ATHBEE (TOC) o) 3meg/ 1O <0.2 <0.2 <0.2 <0.2 <0.2 €0.2 <0.2 <0.2 <0.2 0.2 0.2 <0.2 0.2
p H it 5.8~8.6 6.9 6.9 6.9 6.8 6.8 6.8 6.7 6.7 6.8 7.0 7.0 6.7 6.8
S AuTooce|  BEEARL| O RELL RBERL REAL| RELRL] BEARL REARL O RELRL|] BEARL] RELL RERL| BRERL RERL
= K Ao e BEEARL| O RELL RBERL REAL| RELRL] BEARL REARL ORELRL|] BEARL] REALL RERL| BRERL RERL
@ 3 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) E 28 LT 0. 1 <€0. 1 0.1 0. 1 0. 1 <€0. 1 0. 1 <€0. 1 0. 1 0.1 0.1 0.1 0.1
7% # # # 0.4 0.5 0.4 0.3 0.4 0.3 0.5 0.5 0.5 0.4 0.5 0.3 0.4
WKk BOKGET  (BRAR — AR
f28 7K A A IR S e fiE 41100 5/8H 6/15H 7H3H 8H6H 9H5H 10/ 2H 116H 12/4H 1H8H TR R [l %k
— [ [ 100,/ m 1 B4 F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz Bt EnmnT & k3 et et et et et et et et et et
Hikim 1 A 200m g/ 1 DL F 4.1 3.7 4.0 3.9 4.5 4.1 3.4 4.0 4.0 3.8 4.5 3.4 4.0
1kt (&ATHBEE (TOC) D) 3meg/ 1O <0.2 0.2 <0.2 <0.2 <0.2 <0.2 0.3 <0.2 <0.2 0.2 0.2 <0.2 0.2
p H it 5.8~8.6 6.4 6.5 6.3 6.3 6.4 6.4 6.3 6.4 6.3 6.6 6.6 6.3 6.4
S Ao e BEEARL| O RELL RBERL REAL RELRL] BEARL REAL O RELRL|] BEARL] RELL RERL| BRERL RERL
= = Aucooce|  BEEARL| O RELL RBERL OREAL RELRL] BEARL REARL ORELRL|] BEARL] RELL RERL| BRERL RERL
@ B 58 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
%) 3 28 LT <0. 1 0. 1 <€0. 1 <€0. 1 <€0. 1 <€0. 1 0. 1 <€0. 1 <€0. 1 0.1 0.1 0.1 0.1
7% # # # 0.3 0.3 0.3 0.3 0.2 0.2 0.2 0.3 0.2 0.3 0.3 0.2 0.3




oK BOKGET QLRI — )
f28 7K A A KBS e fiE 4] 24H 5 15H 6] 18H 7H10H 8120 H 9H11H| 104220 11419 12/ 18H 1150 [T S EES
— [ “H 100,/ m 1 A F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz Bt EnmnT & et et et et et et et et et st et
Hikm 1 A 200meg /1 BT 4.3 3.9 4.0 2.2 4.1 3.5 4.0 4.1 4.2 4.4 4.4 2.2 3.9
HHY (A% (TOC) O#) 3me/ 1 ULF 0.2 0.3 0.2 0.3 0.2 0.3 0.2 0.2 0.2 0.2 0.3 <0.2 0.2
p H it 5.8~8.6 6.9 6.8 6.5 6.6 6.4 6.6 6.6 6.4 6.8 6.8 6.9 6.4 6.6
S AT e BEEARL| O RELL ORBERL REAL RELRL] BEARL REARL ORELRL|] BEARL] RELL RERL| BERL RERL
= K Ao e BEEARL| O RELL ORBEARL REAL RELRL] BEARL REARL O RELRL|] EEARL] REALL RERL| BRERL RERL
@ iy 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) B 28 LT 0. 1 0. 1 <€0. 1 <0. 1 0. 1 0. 1 0. 1 <€0. 1 0. 1 <€0. 1 0. 1 <0. 1 0. 1
B 2 H # 0.3 0.3 0.4 0.3 0.4 0.2 0.3 0.4 0.3 0.4 0.4 0.2 0.3
WK BOKGET  RAR — R
f28 7K A A KB e fiE 45 24H 5 15H 6] 18H 7H10H 8120 H 9H11H|  10H22A] 11419 12/ 18H 1150 Jeowmo | Ik 8 EIES
— % i 100,/ m 1 A F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN izd Bt EnmnT & et et et et et et it k3 et et Sk
Hikm A1 A 200meg /1 BT 4.2 4.0 4.0 3.2 4.2 3.6 3.9 4.0 4.0 4.1 4.2 3.2 3.9
AHY (2ARRE (TOC) O#) 3me/ 1 ULF 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 <0.2 0.2
p H it 5.8~8.6 6.7 6.7 6.5 6.5 6.4 6.6 6.5 6.3 6.7 6.7 6.7 6.3 6.6
S AT e BEEARL| O RELL RBERL OREAL RERL] BEARL REARL O RELRL|] EEARL] RELL RERL| BRERL RERL
= K AuTaoce|  BEEARL| RELL RBERL REAL RELRL] BEARL REARL RELRL|] REEARL] REALL RERL| BRERL RERL
@ E 58 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) iy 28 LT 0. 1 0. 1 0.1 <€0. 1 0. 1 0.1 0.1 <€0. 1 <€0. 1 <€0. 1 0. 1 <0. 1 0. 1
% 2 H # 0.3 0.3 0.3 0.1 0.4 0.3 0.3 0.3 0.3 0.4 0.4 0.1 0.3
Wk BOKSGET (B 1 - B2 KR —  Brgk)
f28 7K A A KBS fiE 4251 5 15H 6] 18H 7H10H 8120 H 9H11H|  10H22A] 11419 12/ 18H 1150 e owm o Ik 8 EIES
— e i 100,/ m 1 B0 F 0 0 0 0 0 0 0 0 0 0 0 0 0
PN iz Bt s nmnT & et et et et et et et it et et et
Hikm 1 A 200meg /1 BT 4.7 4.6 5.2 4.0 4.9 4.5 4.5 4.5 4.5 4.6 5.2 4.0 4.6
HHY (2ARRE (TOC) O#) 3me/ 1 WL 0.2 0.2 0.2 0.3 0.2 0.2 0.2 0.2 0.2 0.2 0.3 <0.2 0.2
p H it 5.8~8.6 6.9 7.0 7.1 6.9 7.0 6.9 6.9 6.9 6.9 6.8 7.1 6.8 6.9
S AuTooce|  BEEARL| O RELL RBERL REAL| RELRL] BEARL REARL O RELRL|] BEARL] RELL RERL| BRERL RERL
= K Ao e BEEARL| O RELL RBERL REAL| RELRL] BEARL REARL ORELRL|] BEARL] REALL RERL| BRERL RERL
@ iy 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
&) iy 28 LT 0. 1 <€0. 1 0.1 0. 1 0. 1 <€0. 1 0. 1 <€0. 1 0. 1 <€0. 1 <€0. 1 <0. 1 0. 1
% 2 H # 0.4 0.3 0.3 0.1 0.4 0.2 0.3 0.4 0.4 0.4 0.4 0.1 0.3
Wk BOKGAT  (FTEEs 3 KR —  Fafe)
oa A H KB 4H24H 5H15H 6 18H TH10H 8H20H 9H11H] 10H22H] 11H19H] 12H18H 1H15H Komo | R IR | [EIE=S
— W o i 1008,/ m 1 LK 0 0 0 0 0 0 0 0 0 0 0 0 0
IS W [i:] Bl e fa fag fag fag fa fa fa fa fa fa 35
WA A 200mg /1 BLF 4.3 4.3 4.1 3.3 3.7 3.5 3.3 3.4 3.5 3.7 4.3 3.3 3.7
Y (2AHRE (TOC) OR) 3mg/ 1T €0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 0.2 <0.2 0.2
p H fitr 5.8~8.6 6.6 6.5 6.7 6.4 6.4 6.3 6.4 6.5 6.7 6.7 6.7 6.3 6.5
S RBEThRvIE REARLL REARL REARL] REAL|] REAL|] REAsl| BEsl] BEARL] RBERL] RBEARL WL BEe L RERL
5 ) RBEThRvIE REARLL REARL REARL] REARL|] REAL|] REAsl] BEsl] BEARL] RBERL] RBEARL WL BEe L RERL
i) B 5 LT <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0
s} B 2 LT 0. 1 0. 1 <0. 1 0. 1 <0. 1 0. 1 <€0. 1 <€0. 1 <€0. 1 0. 1 0. 1 <0. 1 <€0. 1
7% B i * 0.4 0.3 0.3 0.2 0.4 0.3 0.3 0.3 0.2 0.2 0.4 0.2 0.3




